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@1 See the picture and fill the blank place with “this” or “these”.

is a girl.

are two bats.

is a butterfly.

are eight frocks.

.r w»

are four caps.
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| Complete the chart.

One Many
Pen

Shirts
Key

Books
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| Read the sentences.
Insects are small. All insects have six legs. Most insects can fly. They have wings.
Insects are in the world we live. They are in the garden. They are in the desert. They
are in the hills. They are everywhere.

A. Fill in the gaps with words from the passage.
a) We have a beautiful

b) Butterfly is an
B. Read the clues and fill the boxes with the words from the passage.
31 g Across
4 1. From where we can get flower
2 L 2. Most of insects can
1| G D Down
3. Opposite of big
4. Insects have six
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